Chapter 15
Mergers: Theory and Evidence

1. First, business combinations can be classified according to corporate structure. A merger is a situation whereby firm A acquires firm B, with only firm A surviving. A consolidation results when firms A and B combine assets to form a firm C. An acquisition results when firm A exchanges some of its shares for some shares of B, whereby A becomes the parent company and B the subsidiary.

Another way to classify business combinations is by the economic relationship of the firms before combination. If two firms had performed a similar function in the production or sale of goods and services, then the combination is said to be horizontal. Another type of combination involves two firms that are in a supplier-customer relationship. This combination is said to be vertical. A third type of combination may involve firms having little, if any, market similarity. These are known as conglomerate combinations.

Methods of combination take two forms: negotiation or a tender offer. Negotiations occur between the management and boards of directors of the two firms. Tender offers are offers made directly to a firm’s share-holders. Forming a holding company is another technique.

In combinations involving the exchange of shares of common stock, determination of the “price” is actually the determination of an exchange ratio. The analysis of exchange ratios involves making assumptions about the pre- and post-combination earnings streams and P/E ratios. The exchange ratio is then equal to the number of shares of firm B divided by the number of shares of A traded. The acceptance of the negotiated exchange ratio depends on the expectations about the post-combination P/E ratio. This will also depend on the relative bargaining positions of the two firms. Further discussion of exchange ratio determination can be found in Larson and Gonedes (1969).

2. In a tender offer, which is usually accomplished through the financial press, the acquiring firm makes its offer directly to the shareholders of the firm it wishes to acquire. The acquiring firm offers to pay a fixed amount per share to each shareholder who “tenders” his or her shares, and this price is usually set far enough above the current market price to entice shareholders of the target firm. This can enable an acquiring firm to make a tender offer, gain control, and then proceed with negotiation for the remainder of the shares.
State and federal laws place several legal requirements on tender offers. The bids for shares must remain open for at least 20 days. Shares that are tendered during this period may be withdrawn during the period. And if the original offer price is raised, those shares that were tendered under the original offer are also entitled to the higher price. After one firm makes a tender offer, other firms may also enter the battle for a target firm.

There are several options shareholders can take after a tender offer has been made: They may accept the bid and tender their shares; they may just continue to hold their shares; or they may decide to sell their shares on the market. Shareholders who are not happy with the offered price can resort to a court valuation under state laws, and often this is accomplished by means of a class action suit. Empirical studies have shown that the stockholders of target firms tend to earn large positive abnormal rates of return in the month of the first public announcement of the tender offer.
3. All exchanges are considered taxable to the seller unless specifically exempted by the Internal Revenue Code. The Code provisions that allow for tax-free status to the seller restrict both the type of acquisition and the terms of payment. The guiding principle in the Code is determination of whether equity interest has been maintained.
To qualify as a nontaxable merger, the type of acquisition and terms of payment must meet certain standards and are usually accomplished by a “statutory” merger or acquisition under a state statute, a stock-for-stock exchange of voting stock, or a stock-far-assets exchange.
4. The two accounting procedures for treating mergers are known as the “pooling of interests” method and the “purchase” method. APB Opinions 15 and 17 list precise criteria to be used to distinguish poolings and purchases; but roughly speaking, a pooling is appropriate when neither shareholder group assumes a dominant position, and a purchase is appropriate when one shareholder group emerges in a dominant position. A combination that meets pooling criteria must be accounted for as a pooling; if not, then it must be accounted for as a purchase. One of the major requirements to use the pooling method is that the method of payment must include common stock in exchange for “substantially all” the voting common stock of the acquired firm.
In a pooling, the two firms are considered to have been joined from day one, and the accounting reports are restated as if they had been joined. In a pooling, the respective accounts of the balance sheet are simply added up to arrive at a new “combined” balance sheet. In a purchase, the equity of the acquiring firm is not changed; the equity of the acquired firm is gone, and its shareholders have “pocketed” the money from the sale of their stock to the purchasing firm.
5. Economists generally assume the goal of the firm is to maximize the profits of the firm. Hence mergers and acquisitions can be analyzed in terms of operating gains and the effect on earnings. One justification relates to economies of scale, indicating the average cost of unit output drops as the output level increases. Another aspect of earnings maximization involves growth. At a certain point, any further increase in size will result in diseconomies. Another economic justification for mergers involves the issues of market power and market share. These issues are the crux of the arguments the Justice Department gives against mergers. Financial theorists, on the other hand, assume the goal of the firm to be maximization of shareholder wealth or maximization of the value of that firm. Thus, financial theories of business combination are based on how they affect the cash flow and risk. One line of theories involves the diversification effect following from portfolio theory. Other lines of research have investigated the issues of when and to whom do any benefits of business combinations accrue.

The integration of economic and finance theories is needed to develop a more complete model of a firm. From a managerial decision-making point of view, the production, investment, financing, and dividend decision must all be done, and none of these can be considered exogenous.

6. Galai and Masulis (1976) view the value of equity as decreasing and the value of debt increasing as two firms with a less-than-perfect correlation in rates of return merge. The relative variability of the resulting returns decreases in the absence of any synergistic economic effects. In this framework, the value of the equity will be an increasing function of the variability of the rate of return on the firm’s asset. Hence in a merger in which there is a change in the variance of the firm’s rate of return, there will be a change in the market values of equity (and debt).

7. The conventional theory with regard to a divestiture says that holding the return of the firm constant, the divestiture should increase the variability in earnings and cause the value of the firm to rise.

With the changing economic and legislative environment of the last few years, divestiture has become an option that has gained in prominence in a firm’s decision-making process.

8. a) Based on current EPS:

         ER = EPSDove/EPSBest = $1.00/2.00 = .50,
meaning that 50shares of Best’s stock would be exchanged for every 100 shares of Dove Inn’s stock.

b) Based on EPS in 5 years:

        EPSDove in 5 years = $1.00(1.04)5 = $1.22

        EPSBest in 5 years = $2.00(1.08)5 = $2.94

                   ER = $1.22/2.94 = .41.

c) Based on current market values:

        Po Dove / Po Best = $13/51 = .25.

d) To maintain Best’s current EPS:
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  where TE = Best’s old earnings + Dove’s old earnings + Syneretistic earnings,

           N = Number of shares outstanding before the merger.

e) To maintain Dove Inn’s current EPS:
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9.


As debt is added, we can see by the M & M equation VL = Vu + tD that the value of the firm rises by tD per unit of debt. Since $6 million of 10% debt is used, then:
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10.


a.
Number of shares after acquisition (in millions)

= 30 + 15 = 45

Stock price of Company A after acquisition:
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b.
Let 
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So, the exchange ratio is 
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The proper exchange ratio should be 0.1875 to make the stock offer’s value to Company A equivalent to the cash offer.

11.

a.
The synergy will be the present value of the incremental cash flows of the proposed purchase.  Since the cash flows are perpetual, this amount is 
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b.
The value of Company B to F Company A is the synergy plus the current market value of Company B.
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c.
The value of each alternative is:
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d.
Since these values are already in PV terms, the NPVs are simply Value - Cost:
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e. Use the cash alternative, because its NPV is greater.

12.

a.
The value of Company B before the merger is $13,500,000 (=900,000x15). 

Recall that the discounted value of CF's growing at a constant rate is given by
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where r is the risk-adjusted discount, and g is the growth rate. We can use this to determine the effect of the changed growth rate, but first we must find the value of r for Company B. Since the value of Company B is also the value of the expected future dividends, we can write using the above:
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and solving for r, find r = 0.085

Then, applying the new growth rate, find the value of Company B after the merger is
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           This is the value of Company B to Company A.

b.
If Company A offers stock, the value of Company B to Company A is the same, but the cost differs:

Value of the combined firm = (Value of Company A before merger) + (Value of Company B to Company A)

= $18  (2,000,000)  +  $97.2 million

= $133.2 million

Cost = (Fraction of combined firm owned by Company B.’s stockholders)*  (Value of the combined firm)
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c.          If Company A offers $35 in cash for each outstanding share of Company B, the NPV of the acquisition would be

             NPV = Gain - Cost
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           Thus
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Therefore, the acquisition should be attempted with a cash offer since it provides a higher NPV.

d.        If the company adjust its estimate for the growth rate downward to 6%, then the value of Company B to Company A is less then $13.5 million and rest of the analyses change according to this downward adjusted estimate.
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